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1.  Answer the following questions :
(a) Draw the equivalent circuit of a transistor using diode.
(b) Whatis the need of DC biasing of transistor ?
(c) Whatare the three states of the tristate logic gate ? What is its importance ?

(d) What is a time base voltage 7 What is the need of time-base voltage in
CRO? |

(e) How gain of an amplifier can be increased without changing the component
values of the amplifier ?

(f)  Perform the following subtraction using 2's cnmplirﬁent method :
(17),6 — (26),,
(g) Constructa EX-OR gate using NAND gate only.
(h)  Draw the block diagram of 4X1 MUX. Why it is called a data selector ?
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(iy Mention two conditions that must be fulfilled in oscillator circuits.

() Whatis CMRR ? What are the disadvantages of an OPAMP with low CMAR
value ?

Express the necessary derivation for the efficiency of a half wave silicon diode
rectifier. Ifa 100 load resistance is connected across a half wave rectifier. The
input supply voltage is 230 V (rms) at 50 Hz, then find ripple factor and efficiency

of the circuit. 5+5

(a) What are the charact
suitable diagram, h

with voltmeter. 5
(b) With suitable block dia : XplathYine basic principle of a triangular wave
generator. 5

(a) What is emitter follower circuit ? With a neat diagram explain transistor
based emitter follower circuit. Mention its importance in electronics circuits.

5

(b) IntheFig.1,it R,=470KQ, R,=270kQ, R;=6.2KQ,R=15KQ,
C,=C,=10uF, G, =Cg=5uF, thenfind V, Vg, lc, and Ve when p =100

and V,=0V Jav 5
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(a) Whatis MUX ? Design the following Boolean function using MUX. 5
F=A'B'C’' + ABC + AB'C + A'BC". |
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(b)
6. (a)
(b)
7. (a)
(b)

What is POS in Boolean expressions ? Implement the following function

in POS, 1+4
F (A, B, C) = (AB + C) (B + AC).

Simplify the following Boolean function using Boolean algebra identities. 5

F(A,B,C,D)=¥m(0,2,4,7,8,9).

And then, realize the simplified functions using logic gates.

Explain the principle of an oscillator circuit. Mention the requirements to be

filled up to built a oscillator circuit. ' 5

Whatis an integrator circuit ? Draw and find the transfer function of OPAMP

based integrator circuit. Also draw the output wave form when a 4 V peak to

peak square wave voltage is given. &‘ﬁ RAL Py 5

The open loop gain of an amplifier c ';1 sby5p ts. If 10 dB negative

feedback is applied, calculate percentdge change closed loop gain.

¢ 5
8. Write short notes on any two ; Ex2
(a) Full adder
(b) Universal logic gates
(c) ROMandRAM
(d) DC biasing.
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